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YLet w=xe” + ysinz—cosz, with x=r+2t, y=rt ,and z =12,
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b)Let F(x,y,2z) = x* + y* + z* + 6xyz — 1, and assume that the equation F(x,y,z) =0,

defines z as adifferentiable function of x and y.Find gxz—,at (x,y,2)=(,2,3).
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) 2. ( /4 Points)
%f“\ Slghtlou are given the function of three variables : f(x,y,z) =————ST-——2—.
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e) Is the domain closed ? Justify. ‘QQ ST ST
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g) Describe fully that level surface which contains the point P(-2,2,7). (—Q
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... 87 (Y6 Points)
o e uare givena function f(x,y)and the point P,(3,2).
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Find the gradient of f at P,. Q
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4. (18 Points)
Evaluate the following ,if they exist
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5. (15 Points)
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‘(_ a) Use series to find the value(s)of k for which L= Lim (COS(kx) : 2 i ) exists.
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6. (16 Points)
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1
Apply the binomial series to find thevalueof — J = I V1+x* dx
0

with an error of magnitude less than 0.04 .(Use the smallest number of termsS.
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